Quiz 2

Let E be the solid bounded by the paraboloid z = x2? 4+ y? and the plane z = 2, and f(x,v, 2) be
a continuous function on it. Set up an integral /// f(x,y,2)dV in the order dxdzdy.
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Let E be the solid of the picture below, bounded below by the paraboloid z = 422 + 4y? and

bounded above by the cone z = 8 — 44/22 + y2. Set up but do not evaluate an integral that
computes the volume of E.

b Lafiniicnd Coordinntes

@ 2= T 24lircs-4
2:9-4r

’a?,b&{clf,'w; Intersse cf @

4t -4,

| 2y t4-3= 0 =

B r=-2 w@

i -y S 0pEB<oq , 0fe £
L R
V= S Lo lzdvd®



